
Q1. This question is about organic compounds. 

(a)     Wine contains ethanol (CH
3
CH

2
OH).

 

(i)      Complete the displayed structure of ethanol. 

 
(1) 

(ii)     Wine left in a glass for several days turns sour. 
The sour taste is caused by ethanoic acid. 

   

Complete the sentences. 

The ethanoic acid is produced from a reaction between ethanol 

and ................................................... . 

This type of reaction is ................................................... . 
(2) 

(b)     Propyl ethanoate, a fragrance, can be produced by reacting ethanoic acid with an alcohol. 

Propyl ethanoate is a member of a series of organic compounds. The members of the 
series all have the same functional group. 

The displayed structure of propyl ethanoate is: 

   

(i)      Draw a ring around the functional group for this series on the displayed structure of 
propyl ethanoate. 

(1) 

(ii)     Name the series of organic compounds with this functional group. 

............................................................................................................... 
(1) 

Page 1 of 3



(iii)    The alcohol used to make propyl ethanoate has the formula CH
3
CH

2
CH

2
OH

 

Name this alcohol. 

............................................................................................................... 
(1) 

(Total 6 marks) 
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